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Unit 1:

1. 856076011 @) 60T IQLI[HESHLD 6T60TMITEV 6TE0T60T?
eflevmiGaeflelmha @ ¢

TS EEHTL(HHET H(Hb.

What is parthenogenesis? Give two examples from
animals.

2. Umedledl @ eTLIQLH&HELD (3]6L6V)
LImeSleorTll QUB&HELD @) 6eummIeT 6Ts!
GLOLDLIL_L_&I? 6J60r?

Which type of reproduction is effective -Asexual or
sexual and why?

3. @ Lemeymigev (e mLILILg

@) 60TLIGLI(HESHGEHLD QFUIWLILD 6(H QF 6V

o WIfl&e6T 9blaummenel. BIWMWLILIG &SI
The unicellular organisms which reproduce by
binary fission are considered immortal. Justify.

4. SHITJ600T R & 6T Jo MG

3|) Co et a6 GUmeTm 2 UWIliflase6T s e6oTeof]
@eTLIQLIIHES el6uhiE 86T 6TedTm!
|6MmL0 88 L1LI(H &) 60T M 60T

31) 2,600 G 60t SH6rflev 16
GCITGLMTCFTLNGEHLD GLIcor G56015 & 6r160
32 GCIMELMTGFMD&HEHLD
&IT6ooT LI LI (h) 5 65T M 60T

Give reasons for the following:

Subscribe: https://www.youtube.com/@Marutham acadamy

(a) Some organisms like honey bees are called
parthenogenetic animals

(b) A male honey bee has 16 chromosomes where
as its female has 32 chromosomes.

5. 2_Wiliflsserflev &mevor LG LiILGeum
6160) 8 ULITEOT 62 (IH I §5) 60)600T6Y (LD 6DY M) &> 60) 61T
alleurfl.

Explain the different kinds of syngamy in living
organisms.

Unit 2:

1. e QUILAIGW TG Z60 1T 6V LDMHMILD
VEUTL CLTER6 &6 — CeumiLI(H &5 S15.
Mention the differences between spermiogenesis
and spermatogenesis.

2. BTUICHF I @) 6metor L& T 8 (Ih
BIreTleveumd &ILILNG H & —
BluUmw b &S

Placenta is an endocrine tissue. Justify

3. @)60TeUM)I LI 60T 6TEOTMITEV 6TEOTEOT? B &5 60T
L6001 & 61T WITem6u?

What is inhibin? State its functions.

4. 9|600TL. Q&F6L6Y 6T QeMDLINUS &G HS
QUeMILIL MBS @HL 6T edlauif].

Describe the structure of the human ovum with a
neat labelled diagram.

5. 060flg bl GQF6V2_(HEUME LD LDMMILD
3|600TL. Q&L 2_(HEUMESLD Hl&LD6) 5606
QUENTLIL LD eLn6uLD 66T & 8s.

Give a schematic representation of spermatogenesis

and oogenesis in humans.
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6. DML MU &Lom&P uller LisLBeum
B160Y6V85606T 61168 (&5

Explain the various phases of the menstrual cycle
Unit 3:

1.9) ZIFT &) ICSI el fleum&: sl &[Hos
Expand the following a) ZIFT ~ b) ICSI

2. HHHE&HTEN6EV LDMHMID TG &6 & Ten6V
CaumiL(h &S 5.

Differentiate foeticide and infanticide.

3. umevellements QS THMI CBHITUIEEN6TS
SH&HGSLD (PEMEENET 6T(LDSISH

Write the preventive measures of STDs.

4. I0&:56IT Q&M 860 WIS
SLOUUQSSUH L LevCeum SHILIL
(e MS6T (Barrier Method) LM &l 6més: & .
Explain the various barrier methods to control
human population.

Unit 4:

1. GaumILIL L @60TEFQ &6V LDMHMILD

55 WN6TC &6V LIM6L BIT600T WL &S M &L

@ 6L G 2_6T6eT CeumILIM(h&HemeT 6T(LDSISH
Distinguish between heterogametic and
homogametic sex determination systems

2. UMeLFMIHS sp(hMl@& LI6ooTL| LDTL] SHL_&HSH6V
21,600T561T16V T60T 2| H&HLDMSHE
SmeorLILGSmSI?

Why are sex linked recessive characters more
common in the male human beings?

3. Leyeor &FlevorL_Grrmidledr om&maemerr
SO B 5.

Mention the symptoms of Down's syndrome.

Subscribe: https://www.youtube.com/@Marutham acadamy

4. 107 Qg 1LemLullev Lneoflgeoflesr ABO
QU555 auemsemnwl alleurfl.

Explain the genetic basis of ABO blood grouping in
man.

5. Rh ssmyeooflufledr I0yL& &L GBI 6L
umn ellens: &

Give an account of genetic control of Rh factor

6. CITGLMEHFMD QSTGSLIL]

QUG ITLIL S5 60T LIUIGITE: 606 6T(LD S 5.

What are the applications of Karyotyping?

7. ID6ofl B etlev LITeL FMTH S

T L8858 869160 &mevor L)L

LI1600T L|S60)61T 6T(LDSI 5.

Explain the inheritance of sex linked Characters in
human being.

Unit 5:

1. (DS ETENLD @) 6L LDMMILD LI 60TE MG LD
QenL - GBS 515

Differentiate - Leading stand and lagging strand
2. 0eof1S IUs Q&TE&H S FL_L &S 60T
©)6V5 G G6T eLneTleneTd & mILILNH 8.
State any three goals of the human genome project.
3. Devflg WFUsDIS HILL LD 60T IDSTHL L LD
6T60T eMLPESLILGTR M.

Why the human genome project is called a mega
project?

4. OLIJ.6T60T.6J LOMMILD Lq..6T60T.6F

LS WM MIGHE 6L CU 2_6TeT jemLnLL]
FribHs CeumLmb &6 eLnedrnleneords
SO B 5.
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What are the three structural differences between
RNA and DNA?

5. L& &L GMIUT(bH Semerr

@) 60T 1G5 6001 Ll LD 6TH & mIuT(bH & emer

6T SI5%. AAU, CGA, UAU Lommilb GCA

Name the anticodon required to recognize

the following codons: AAU, CGA, UAU,

and GCA.

6. BIW,&6TIGWITCHFITID 2_([HeUMEGLD (LNEmMEmUL
alleurfl.

Explain the formation of a nucleosome.

7. (PSH6OT (LPSHEVITE 2_(HEUITET L0 L LIGILITIHET
QL 1J.6T60T.6] SIT60T 6T60T BlemLI G & LILIL (H6TeTs)
— SITIT600T MBI @5 L60T [Blem LI & 8s.

It is established that RNA is the first genetic
material. Justify giving reasons.

Unit 6:

1. eLNGOTM QUM S L|6M &S LI 6N ITE 86V

e &G&HemeT alleurf]

Explain the three major categories in which

fossilization occur?

2. @l uflesormioid wmmid ellifluflesor o

1515 LD & &) 56006 626U GIAUIM(H

T SHSHHTL(HL6T CaumMILIH S SIS
Differentiate between divergent evolution and
convergent evolution with one example for each
3. Lmielleofluigs G LM & 6h & & TeoT
(WERW TR S([HESIESH6T WITeneU?
Mention the main objections to Darwinism

4. UeW mnlers CHMTMHMEHmMS allems: &L
19 iflev&etr HieF wrHme CamLum®),

Subscribe: https://www.youtube.com/@Marutham acadamy

6TEUAUMMI GUITLOMIE LOMMILD LMTFedleoflwlss
Gamlunbh&efledmbha CeaumLGRmE?
How does Mutation theory of De Vries differ from
Lamarck and Darwin’s view in the origin of new
species

5. [BIWLIT600T L_[F&T6V LN60T1 &5 60T LoMmILD HeTeor
D6l B ST emL_CUl 2_6Ter GH MMM
CoumiLIm(h 86T WITem6U?

How does Neanderthal man differ from the modern
man in appearance?

6. Lmjedleofluds GasmLIm(h) & 61588 TeoT
WDER W T S(IHESISSH6T WITen6U?
Mention the main objections to Darwinism.

Unit 7:

1. CL&HCIMHCLURGEET FMIHEH &H60)L
U EH M Fa)l 3|5 66T 6)l6TE &.

Name and explain the type of barriers which involve
macrophages.

2. 10eoflg 2 L eleb mIemwhs LIm &,

QUL EImemeUren @ L 19 L1LemLU]LD

QEF WML )N6TE 5.

Explain the process of replication of retrovirus after
it gains entry into the human body.

3. a7&F..NWmel QMMM 6276 HLIIHEG
6TUIL_6N) 2_6IT6ITGIT 6T60TLIGM S 6T6)6U MM
&600T LMl 6w mLl?

A person is infected by HIV. How will you diagnose
for AIDS?

4. 9]) WIMen6T&H & M6V CHITemnW ggMLIMBSSILD
WImemeoTas & mev Ljpelledr mlelliiey QUweny

TSI
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L) WITenerdssmev Cihmulledr ml&mlgsemert Briefly describe its preparation.

TR SIS, 5. @ ymlym UGS serflev 2 ulliflu euruy
@) @Ib5 GBITUI eTeleUTmI LITeSHMSI. 2 MHUSH) Bl6tr6VUIMIS6rTl60T LiLI6OTE: 606
(i) Write the scientific name of the filarial worm that  euiflemaLILI(H & SI5.

causes filariasis. List the advantages of biogas plants in rural areas.
(i) Write the symptoms of filariasis.

(iii)How is this disease transmitted?

5. GUIMeMS LOIHHSISH6T LDMMILD LDSIL]

LILP&H&5S5 60 BHS ellev@b GUME mLI(hLD

aflevss6v M GMIsen6T auflensFLILIH & S 5.

List the common withdrawal symptoms of drugs

and alcohol abuse.

Unit 8:

1. UMmev eTeleumm) SuWgmes LTHOUIURS mSI?

SWIT 2 Baum@Lh Wwenmuileneor alers: & ss.

How is milk converted into curd? Explain the

process of curd formation.

2. NetTaumLd QFMTHOMITLFSHEm6T

6UED T UIMIS &6 LD

) 2 WIF erHTLUQUTIHET ) GLILT LIS

@) en&FLOMeVel]

Write short notes on the following.

a) Brewer's yeast  b) Ideonella sakaiensis

¢) Microbial fuel cells

3. 2. W7 eT®FLIQUTIHET 6TH [T L1L &S meor

TLQUMWD S 2 (HeuTHmSI?

When does antibiotic resistance develop?

4. Qs THLSIM 2608EMITED 6T60T

SO LILU( 66U 61517 315 60T

SWITIf15 5606V &(H&H ST 6l6T8 & 5%.

What is referred to as industrial alcohol?
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